
IN240300244V01_GL

834-202

US_CA



-2-



20

20

28

10

54 34

4

2

1

4

8

2

4

2

2

4

2

1

3
4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

 4 

(spare)

(spare)

+2

+2

(spare)+2

M6*30

(spare)+2

M3*12

(spare)+1

M3*16

(spare)+1

M4*35

(spare)+1

M4*12

(spare)+1

M4*18

(spare)+2

M2.6*10

(spare)+1

(spare)+1

A E I M

N

O

P

J

K

L

F

G

H

B

C

D

Q

-3-

21

20



02

012 1

8

4 1

3 1

2

1

2

3

4

M3x16mm

A

A

A

Q

Q

Q

K

K

K

-4-



05

04

8

8

7 1

5 1

1 1

4

2

2

4

7

5

1

M4x35mm

4

3

2

1

7

5

3
2

4

03

B

C

C

C

B

B

A

A

A

B

B

C

C
C

F

F

-5-



10

07

8 1

4

4

2

1

4

4

11 1

8

11

M3x16mm

M4x35mm

2

3

8

1

5

7

06

0810 1

A

Q

Q

Q

K

K

K

A

A

C

C

F

F

F

A A

A

-6-



2

4 11

8

10

11

2

3

1

 5

7

13

13

14

14

C

C

12

12

13

10

14
11

B

B

B

C

C

C

C

C

B

B

B

C

C

C

-7-



15 1 12

15

15

9

9
9

20

21

9

9 1 20 1  1

EN: please use the tape to measure this two diagonal line to make sure they are in same dimen 

sion then fixed the back panels(     &     ) to product with screws     .

FR: Veuillez utiliser le ruban à mesurer pour vous assurer que les deux lignes diagonales ont la 

même dimension. Ensuite, fixez les panneaux arrière         &        au produit avec les vis       .
ES: Utilice una cinta métrica para medir las dos líneas diagonales para asegurarse de que sean 

de la misma dimensión, luego utilice los tornillos para fijar los paneles traseros       &     al produc-

to    .

DE: Messen Sie die beiden diagonalen Linien mit einem Maßband, um sicherzustellen, dass sie 

die gleichen Abmessungen haben, und befestigen Sie dann die Rückwände       &        am Produkt 

anhand den Schrauben      .

IT: Si prega di utilizzare il metro a nastro per misurare queste due linee diagonali per assicurarsi 

che siano nella stessa lungezza, e poi fissare i pannelli posteriori       &       per completare 

l'assemblaggio del prodotto con le viti      .

I O 13

13

13

13

I O

I O

I O

I O

13

21 34M

20

M

M

M

-8-



16 D

D

D

D

D

D

D

G GJ

J

J

JL L

E

E

E

E

E E
L

L

G

G
G

J
L

E

E

16

17

17

-9-



30

M3x12mm

3

16

17

18

19

2

1

17

1

2

5

1

1

19 1

19

M3x12mmM3x12mm

2

5

1

1

1

18

D D

E

E

E

E

E

E

E

E

G G

J J

L L

1

18

1615

L

E D

G

J

E

D

E

E

G

D

D

L

J

E

-10-



2

2

M4x12mm

step 2

step 1

step 3

step 4

6

6

I

OF

N

P

P
O

P

F

F

I
I

O

O

N

N

N

F
I

O

N

-11-



-12-


